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(iii) F¥7 G&IT 6 — 10 TF Jdb J97 2 3hl &7 & | 37 371 &1 Jei& I 40 Irg] @ 3718
&7 &1 FTeY /

(iv) ¥97 G&IT11 — 16 T Jcdh J97 4 37b] &7 & | 37 F91 %7 I9% I 100 Il G 371¢eh
78] &I FT8Y |/

v) I GEIT17 21 TF % J97 5 371 &1 & | 37 F971 &7 I I 150 5] & 371er
78] &1 FT8T |/

(vi) 397 G&IT 21 HIFIGT T TR 597 & | §GHT ITH 37941 ITH-YI&dabT H 167170 |

(vii) ¥97 G&IT22 T 27 T Jod% F97 6 bl BT & | 37 J971 &7 I I 150 el G 3¢
78] &1 FTeT /

General Instructions :
(i)  All questions are compulsory.

(i) Questions number 1 — 5 are of one mark each. The answers to these questions
should not exceed 20 words each.

(iii)) Questions number 6 — 10 are of two marks each. The answers to these questions
should not exceed 40 words each.

(iv) Questions number 11 — 16 are of four marks each. The answers to these questions
should not exceed 100 words each.

(v) Questions number 17 — 21 are of five marks each. The answers to these questions
should not exceed 150 words each.

(vi) Question number 21 is a map-based question. Write its answers in your answer-

book.

(vii) Questions nuwmber 22 — 27 are of six marks each. The answers to these questions
should not exceed 150 words each.

1. 19714, T ger31’ o1 910 fopae feam st 7 1

In 1971, who gave the slogan ‘Garib1 Hatao’ (remove poverty) and why ?

2. S SIS Shi STTTAhdl o U8 § hIg Teh IUITH eh GITIT | 1

(G1ve any one suitable argument to support the need of popular movements.

3. 2014 @ b 9T IAEI § TRA ST 91el (9TS9T) ehl AHheAdl o old, 3HTTeh o=’ 4
I TT hHeh & ®9 U ITERN B 7 1

In your opinion, which 1s the major factor responsible for the success of Bharatiya
Janata Party (BJP) in 2014 Lok Sabha Elections ?

59/1/2 )

collegedunia:

India’s largest Student Review Platform




4, 3iId g o CNH SIS TSI T {ehE] Teh HRTITh o HIY §E G hl I3 Teh HIUT [T | 1

State any one reason for the smaller states to remain tied to any one super power
during the Cold War period.

5. THIRgd J 9o 91 hYF 5 (v o] h AEH EH b T H AT & 7 1
A.  Hod I AR hieh hestl hid oh GITd, $Th I Ueh IT(th o &Y H I |

B. Hife¥yd @9 H GHSEIE 1 HHSTR IS |

C. 3fid Ig o A vl gudl o S1¢ HYeh UY 1 I TANT shich had bl b hid I
o |

D. Hiiddd 99 &7 fage |

Which one of the following statements 1s true about the beginning of the ‘new world

order’ ?

A. Emerging of Iraq as a power after 1t invaded and occupied Kuwait.

B.  Weakening of socialism in the U.S.S.R.

C. The decision of the UN to get Kuwait liberated by force after years of deadlock
during the Cold War.

D. Dasintegration of the Soviet Union.

6. IRE 9 © e (ed feheal <R €301 o 19 TARIT | 4xV=1

Name any four countries related to Warsaw Pact.

7.  AYETehUuT < Tohral Gl J&d THTEl Sl TIeT0T ShifT | 2x1=2

Examine any two major impacts of globalisation.

8.  TATGUT ohl o=l oh Tl JTTLShIST N1 eh! Tl oh1 & RV I & T & ? 2

Why have 1ssues of environmental concern become a major cause of worry for most
of the States ?

9. e fuetar <t it 3, Toha g alishl & URA ol STATi=aId Toha 7 2x1=2

In which two ways did the policy of Non-alignment benefit India ?
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10. = ‘A’ o 3TaTia QU U Aarsti 61 g=i ‘B’ 1 1T T UsiHIfdeh gl § 98l et ik ;

4 x =12
Tl - A Tl - B
a.  HI. TSR] i WA S
b.  IIHI YHTE @Il ii. QP I
c. IEME NG el iii. &&aA ardl
d. W.h. MUTTH iv. IR 9rdt
Match correctly the leaders given in List ‘A’ with the political parties given 1n
List ‘B’ :
List— A List— B
a. C. Rajagopalachari 1. Bharatiya Jana Sangh
b.  Shyama Prasad Mukherjee 11.  The Communist Party
c.  Acharya Narender Dev 111.  Swatantra Party
d. A.K. Gopalan 1v.  Socialist Party

1. YA ! BYh T 0T o A1 Tqul Trae I WA FAMEW 2 1§ IR HIUT ohl T8
HINTT | 4x1=4

Why should India have friendly relations with the U.S. ? Explain any four reasons.

12. efcid 99" I fehral I MATATERIT shl SIREIT hiTTU | 2x2=4

Explain any two activities of the Dalit Panthers.

13. 1947 18U YR h [GUTSH o Tehral IR TIOTHT ST FUM hITNTT | 4%x1=4

Describe any four consequences of the partition of India in 1947.

14, e TIH TY SHET hIg AAUTT TMSH Tai aidl, ql 3o FrdTied IHUmE =T gid ? Toheal
aﬁgﬁﬁﬂT@TﬁﬁEI 2 x2=4

It there had not been any international organization like the United Nations, what
would have been the possible consequences ? Explain any two points.

15. WA shi GLHTY] AT shT Tk hITT | 4

Evaluate the nuclear policy of India.
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16. WA H TSS9 <hl RN hT Hqcd bl dTct Tohral S THHET b ATHI Higd 3k qTiedl
oh 919 Hi feTlaT | 4x1=4

Name any four Prime Ministers along with their political parties who have led

coalition governments in India.

17. T=ferigd 3Tdwor shl &9 9 Ufeu 3T i feU 77U g9 o I faRgu 1+2+2=5

{oTd HHATIAT o ToN § T4 TP G- G o o7 hHATEl ol g™ g8drel
1 TG TohAT | SHE 3T TS ° S[S! Il oh Y T YT HHT bl Tiehl TLhR I g1
S o ToTU gSdTel 1 I &AM TehAT AT AT | TR 39 AT o RIAT A | UH T 9
o a4 g¢ Hrasl-h 399 oh UM, A3 1974 H ESdidd W I U | {79 HHATIT hl
FSAT © HSIGU o FEAIY hl ST 0T | 36 §SdTel 8 HSigU o N I8 HEA i 38
&1, g FaT |t 331 Tob 39 A3 & [ gU hHARI 37U HFT sl TTohl BSATA L
gohd & T &1 |

(a) 1974 ¥ g5 {c1d §SdTel 1 Adcd i dTed dT bl ¥ fIgT |

(b) TR ESATA! HHETIT hl BSATA oh foeg o1 &ft ? IS T I T HIfST |

(c) T HATERFh HAAT ¥ IS HsigU I HHMNI] hl STl hid hl A BHI
18T ? 37U I < U1 H IUY<h deh GIIaTT |

Read the following passage carefully and answer the questions that follow :

A call for nationwide strike was given by all employees of the Railways for pressing
their demands related to bonus and service conditions. The government was opposed
to these demands. So, the employees of India’s largest public sector undertaking went
on a strike in May 1974. The strike by the Railway employees added to the
atmosphere of labour unrest. It also raised the i1ssues like rights of the workers and

whether employees of essential services should adopt measures like strikes.
(a) Name the leader who led the Railway strike in 1974.

(b) Why was the Government of India opposed to the Railway strike ? Explain any

ftwoO reasons.

(c) Should the workers and employees of essential services be allowed to go on

strike ? Support your answer with a suitable argument.
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18. Ta=forfga g =6t sa= 9 uieu 3t = feu o g9t o 3w fofaw 1+2+2=5

“fopdl i THTSI H s TG BId @ | 9eh] JTTHIATY FhE HA HTT HN Th GH
foo{ia 2t € | T8 H 29 39 MU TohUal ¥ < fue "ehd 8 7 SH HaT 1 9T § —

ArehdTizeh TSI |7 I 3R Tfaeaert TSI <hl € Tad STel el =9 8 | @l
ST ITdeh TS T 329 SHIEd skl HHAT T 3T 39 T 30 H{AT BidT & 3T UHT
g1 Y =TT | AR ATl 3 36 T 1 I 1 Hoer fohar |

(a) R Tt § UF fopel < THET i UgeT fSeh! STt 7T 3T W] Ueh
T foadia & |

(b) TAThATEh TSI fSdTGl bl HASTH o [0TT g Tdehed T hidl & |’ 35 HUF
T4 T o T =g Teh IGTELT ST |

(c) TdHH WA 9 ThR o Toheal ¢l U hl Y& shifold Sl SHied H & |

Read the passage given below and answer the questions that follow :

There are different-groups with different and conflicting aspirations. How do we
resolve these differences ? Democratic politics 1s an answer to this question. While
competition and power are the two most visible things about politics, the purpose of
political activity 1s and should be deciding and pursuing public interest. This 1s the

route our leaders decided to take.

(a) Identity any two groups from Indian society which have different aspirations
but opposite to each other.

(b) Give any one example to prove that democratic politics provides alternatives to
resolve the contlicts.

(c) Identify any two decisions taken by the present Union Government of India
which are 1n public interest.
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19. f=ferRgd 39dwor shl &9 9 Ufeu 3R i feU 77U g9 o I faIRgu 1+2+2=5

QI TETRIThAT Toreel o oy feedl W 379+ THTe 1 QR 9 h To1T geil 83 off | giHan
gl T2l o o9 9gd S8 ®Y9 U §¢ T3 off | UH T Tohdlt qoeh o ToT Ueh Tl I8 o7 Toh 98
HUH! L& o o1 Tehell Teh HETIIh o |1 ST Ta 371 ol HRTIith a1 3eh T o ol
h JUTd § &9 T |

(a) T THTE & ol foregd o o $ogeh QI ARl sl Tg=H HifT |
(b) T HEIRBAT b sl for9d o1 €I SR 1 3T ?

(c) Gl TSYH] b |1, UTA b IMHA 7 BH b G T& hRUIN ol TIF hHIWT |

Read the passage given below carefully and answer the questions that follow :

The two super powers were keen on expanding their spheres of influence in different
parts of the world. In a world sharply divided between the two alliance systems, a
state was supposed to remain tied to 1ts protective super-power to limit the influence

of the other super-power and 1its allies.
(a) Identity the two super-powers that were keen to expand their area of influence.
(b) Why was there a sharp division of the world between the two super-powers ?

(c) Explain the two main reasons for India’s not joining any of the two alliance

systems.

20.

S TEU 7T 1A 1 LAYdS LI hIfST a1 HAfeiiRgd Jei S ST AN : 1+2+2=5
(i) QM shied TopE <1 & Tr=fd & 7

(i) 9 3T ‘3’ b §Id 39 < hl AT I H i qf L TI8 T |

(iii) epTeA H GRATT ITT IS 4 3H <1 shl TUISEYT bl bl 1Y UG ?
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THEN NOW

MAO!S —~ \w HU'S
LITTLE CAPITALIST

RED
"POWER

Study the Cartoon given above carefully and answer the following questions :
(1)  Both the Cartoons are related to which country ?

(1) Bring out any two differences in the economic policy of this country between

‘then’ and ‘now’.

(111) How has the change shown 1n the Cartoon benefitted the economy of this country ?

e :  T=lRad T99 shaet giaTiea TherTi o fou Se9 T 20 o TUH W -

20.1 EIH TSI AHLHT o 39 UPHT o1 A4 feifge oo+ Tt @il Ig 1 foo
9T <h! & |

20.2 ‘=R’ oh! giHTiNG shifsru |

20.3 . UF ai-¢¥ll o AW feiRau f5eh Tareg STHIERT A 3141 3= 31fh 61 TR Toha
3T AT 2
Note : The following questions are for the visually impaired candidates only 1n lieu
of Question No. 20

20.1 Name the President of the United States who had won the First Gulf
War.

20.2  Define Hegemony.

20.3 Name any two countries against which the U.S. used its military power

and why ?
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feu 7w g & W@Er-aEE 1§ aiE == a6 (A), B), (0, (D) 3R (E) g faf=ga feban
g | e @ g S % IMUR W, $= TgAT-d 3T 370 IT-YfEdeht | 3 Fal 7,
T <hl 713 TR shl sHH T&IT AT T [-Ud 318 hl ¢f T3 dlfciehl h ®UH fIRGT: 5x1=5

TN <h1 TTg ST RI bl 3hH T qrE i 318 TS T 9

(1)
(i1)
(iii)
(iv)
V) . , .

(1) I8 UST YR 1 81 UsT AT &l 1957 T Uged! TR-hIE TehR &1 |

(ii) I8 TSI YA HghRl G TNEH T FH [ 3 |

(iii) IR YR o 9 TS ol 1947 H Ta9TSH o THA, WA 3T qTiehid™ o s ST 737 o7 |

(iv) 39 TST ] 3=¢ 370 o A (oIS eIl Y& Teha 73T o |

(v) FIE TSI 1987 H ITISd g3 T |
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21.

68° 72° 76° 80° 84° 88° g2° 96° 100°

36° 36°

: 32#

ﬁﬁ

28° 28°

24°

24°

20° 2Q°

16°

16°

1z°

7 dug 76° 80° 84° 88° g2° 86°

In the given-political outline map of India, five states have been marked as @,, ,}

@, @ and @ Identity these states with the help of information given below and

write their correct names 1n your answer book along with the serial number of the
information used and the related alphabet as per the following table.

Serial No. of the Related Alphabet Name of the
information used State

(1)
(ii)
(iii)
(iv)
(V)

S9/1/2

(1)  This state was the first in India where a Non-Congress government was formed
in 1957.
(11) This state 1s the birth place of Amul Dairy Co-operative.

(111) This Northern State was divided between India and Pakistan at the time of
partition in 1947.

(1v) This State was given a special status under Article 370.
(v) This State was formed in 1987.
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e : fAfTRad 9 hael GRS TR o6 7w, 97 T@AT 21 & WH W E -
1+1+2+1=5

21.1 b9 91 USY 3T IS U 3TAT hleh SR-IT TRIT AT 7
212 A9 YA o ohd TSI H, TgA! TR—<hTUHT TTehI g1 off ?
213 TSI YA o o & TS o9 8 ¥, 9= 1947 H TO9SH & I9I 9Rd 3R

TTeh¥IT oh ST fo¥h TehdT TIT o TR T 7
21.4 WaFdl ¥ 9gd, Tord Torifaes e 4 feus =1 fag=’ feamon 2
Note : The following questions are for the visually impaired candidates only 1n lieu

of Question No. 21 :
21.1  Which State was carved out of Uttar Pradesh ?
21.2  Which State of free India had the first Non-Congress government ?

21.3  Which two states of British India were bifurcated between India and
Pakistan at the time of partition 1n 1947 and why ?

21.4  Which political party gave the ‘Two Nation Theory’ betore
independence ?

22. 1975 Y UYR ATITdeRIA HITYd i o fehral = SN bl TIersUl hifeld, | 319k f=ai |
379 9 i H HRUT FAFHTd & 7 4x1Y% =6

YT
1969 H SHIUH TTei b [T o AU IR Tohal did hHRehl ol v shil@ | 3 x2=6

Analyse any four reasons for the declaration of National Emergency in 1975. In your
opinion, whieh reasons are justified ?

OR
Analyse any three factors responsible for the split of the Congress Party in 1969.

23. U 3R TR-URA ek HL&IT b il shlg diF 3TaL TIE HIT | 3x2=6
I

Jic 3ATYeh! Tk Y <hl HEEHT H WA hI TdHII hid 1 HGE 0, a1 39 TJh TP
bl FL&T INNE T WA <h! T FEEIdT b ToTt hF  diF &F b oIl ? FHSST |

Explain any three differences between traditional and non-traditional security.
OR

It you are given a chance to represent India in the U.N. General Assembly, which
three main arguments would you give to support India’s candidature for the
permanent membership of the U.N. Security Council ? Explain.
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24, e TOER ¥, ¢ U Qe A9 fohd HHT b TAERE & T § ? 39 3T b
TOYT T deh TR hITaiT | 6
3TET
g UH 19 IUT GATE o8 Diferrd € bl forered & S ST Hehdl o7 | 3Ix2=6

In your opinion, how far has Non-Aligned Movement (NAM) become irrelevant
today ? Give reasons to support your answer.

OR

Suggest any three measures which could have saved the Soviet Union from
disintegration.

25. TITSLOT shi &1 o 11U WA Tk g1 331U U fehral AR SheHI ShI UM shilsT | 4 x 1% =6
YA
AYeTeRTuT o TfeRIE bl Tieht T o 3TWE T GUH I | 6

Describe any four steps to protect the environment taken by Government of India.

OR
Describe India’s experience 1n resisting globalisation.

26. = 1 THR gRI 33T T, Tohegl dilF JE&T heHl hl AT shife, T8 =1 37w
Bl 3cUTH AT | 3x2=6

37T
UTfehEle H Szl b §1¢ H, J& UL AT I AMhAA hl YfHehT Sl TIF HIT | 3+3=6

Explain any.three-major steps taken by the Chinese government which led to the rise
of the Chinese ¢conomy.

OR
Explain the role of military and democracy 1n Pakistan since its independence.

27. arel TaUdt Mg gRI 331U 1T fohegl I el ol U <hilolT | 39 HATGIAH bl HigaAT-

HTGI 1 hgl JAd1 & ? 4+2=6
GRE)
WL TohET™ [T o qed H BT TG <hl Tohral =R foreIearatl sl SUH <hIT | 4 x 1% =6

Describe any four i1ssues raised by the Anti-Arrack Movement. Why 1s this movement
called a women’s movement ?

OR
Describe any four features of the movement led by Bharatiya Kissan Union.
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